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SECTION A
1. gufy aydyme =0 g fsa |
Define macro economics.
2. U AP am = fgam @ 2 1

What does an indifference curve show ?

3. digid are & gRuw €S | 1

Define marginal cost.

4. TH U AR F ud @ el § W wma W U o @ el 0w aw wwd
2, s T (W) H R = A 8 7 1

What is the behaviour of average revenue in a market in which a
firm can sell any quantity of a good at a given price ?

5. ITEOYaR & YR ST | 1
Define oligopoly.

6. Wm@m%mﬁmmmmﬁ@m%} 1

Explain, giving reason, why production possibilities curve is concave.

7. TH SO Had o aega X SR Y 1 S0 T ¢ SR 9% Sged H g 1 X A
FHd g Tl 2 | ST fovew & gEEar ¥ SU4Re & wfafEmar qewsy | 3

A consumer consumes only two goods X and Y and is in equilibrium.
Price of X rises. Explain the reaction of the consumer with the help
of utility analysis.

58/2/1 3 P.T.O.
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a3

(1)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

24 @usr & a9 gvT sfyard &
T ¥v9 & YT 3% 39% gET kT T F |

T T 15 T 17 - 21 $if7 agaves J97 8, Rad y9% #7 1 37%
8 | 399 I 9 U areT 0 g 0T 8

Y97 T 6 — 10 37K 22 - 26 TTHHF 597 8, [0 59F & 3 3% & |
Y% T I QAT 60 Vil § Ay et & =@y |

TT G 11 - 13 3% 27 - 29  THTIEF T & i T9F & 4 9%
g | I9F I I GErFar 70 Vi @ 3y T8 §HT TR

T G 14 — 16 3Rk 30 — 32 FIHF ITH el F99 & [5H ¥0F &
6 3% & | F9% & 30 qErgar 100 Vi & 34F T8 g T’ |

T GRre duT TeaTHE 819 wIgT T JUrFYT W & TF G & eafd &
few s =T |

General Instructions :

(i)

(i2)

(1it)

(iv)

(v)

(vi)

(vii)

58/2/1

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1 -5 and 17 - 21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each.

Questions No. 6-10 and 22 -26 are short-answer questions

carrying 3 marks each. Answers to them should normally not exceed
60 words each.

Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14—-16 and 30-32 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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8. ¥ Ufd =% d@ifay A+ & fag W qfd & Fhwa A

n
(1) Weh, d«l
(iii) 37 & |

Draw supply curves showing price elasticity of supply equal to
(1) Zero,
(i) one, and

(iii)  infinity throughout.

Tz : frefafaed 5o Fae gfvgia qilaneal & T 97 G&7 8 % Wi W § |
Note : The following question is for the Blind Candidates only, in lieu
of Q. No. 8.

i @eer gfd 3R guidar sd" 9fd & 99 Sg FiN |

Distinguish between perfectly elastic supply and perfectly inelastic
supply.

Q

9. TUF IARH HaUd IE B & (U 49 IUR A1 § R WE & 39 Fawd
@A FA § | TH YO F SR W AT SN wWE ardl $ ggeE # |
THART | 3

A producer borrows money to start a business and looks after the
business himself. Identify the implicit and explicit costs from this
information. Explain.

10. wE i wfqant aem § 99 IR & gRom 9mes | ; 3
argat
THIHE e § S fgue’ & ooy aawmET |

Explain the implications of ‘homogeneous products’ in a perfectly
competitive market.

OR
Explain the implications of ‘differentiated products’ in monopolistic
competition.
58/2/1 4
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11.

12.

13.

14.

gHEey f6 S orfumm O @ 9} § e A" # iR Todl ger @ | ST 9%
foveror & weraW § ITHRH Hqed @ vd §aRt |

Explain why is an indifference curve downward sloping from left to
right. State the conditions of consumer’s equilibrium in Indifference
Curve Analysis.

TE I T 11 9 TR W A A 13 3R @l § | W Hima a9 & T 13
o TR o W 2, % 11 3R wdem § | = fafy g} A & e @ 9
FC | 39 I &F TN T /T T & &R W feooht Ff Hifew | 4

A consumer buys 13 units of a good at a price of ¥ 11 per unit.

When price rises to ¥ 13 per unit he buys 11 units. Use expenditure
approach to find price elasticity of demand. Also comment on the -
shape of the demand curve based on this information.

frdt 3R W A o F ofEdd F9 @ 39 W A Ui o9 uWig e @ 2
HET | 4
g

i (FPM) § =0 Huwy g ? dud gefg ik oigd mefa & o gy
AR |

How does the change in tax on a product influence the supply of that
product ? Explain.

OR

What is revenue ? Explain the relation between marginal revenue
and average revenue.

frafafaa & 9 sifag 6
G)  wm # g e Wi e # e

(i) I I I T T

Explain the distinction between :

(i) ‘Change in demand’ and ‘Change in quantity demanded’

(i1) Budget set and Budget line

58/2/1 5 P.T.O.
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15. Wﬁaﬁfaﬁqﬁ'%ﬁﬂﬂ%wﬁmﬁqﬁaﬁ?%Wwwwﬂm =T %

A

Note :

16.

TS SR off 9REEY | @I & YA Sifw |

State the phases of changes in total product in the Law of Variable
Proportions. Also explain the reason behind each phase. Use diagram.

frfefad 597 Fac iegia qaandal & [0 597 9@ 16 & ©F W E |

The following question is for the Blind Candidates only, in lieu
of Q. No. 15.

ufEd |l & fm & I ER Fd I H uREdd & T gaRy | YA W
& 98 IR0 ff SERT | dfds & TR S |

State the phases of changes in total product in the Law of Variable
Proportions. Also explain the reason behind each phase. Use a
schedule.

TS 95 H IR Hqed § g | I9R A @ Il Sfafwarei @ e 9ngey, S«
() oS # wH e S
(i) " H “FH o7 S |

AYdAr

TF 9% & gWR Gqed # § 1 w0 ok o ¥ ws-my “gfg” A @ ofsA s
ﬁaﬁéuﬁaﬁqHﬁM|Wﬁﬁm%ﬁ#ﬂaélmwmﬁml

Market for a good is in equilibrium. Explain the chain of reactions in
the market when there is

(i) “decrease” in supply.

(ii)  “decrease” in demand.
OR
Market for a good is in equilibrium. There is simultaneous “increase”

both in demand and supply but there is no change in price. Explain
how is it possible. Use a schedule.

58/2/1 6
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17.

18.

19.

20.

21.

22,

g ug
SECTION B

ST gegei & afa S
Define capital goods.

yaE w1 & uiem S |

Define flow variables.

% qm ¥ T a7
What is bank money ?

YT FL H qRYET SIST |

Define indirect tax.

o fafma e 9 o afan 2 2

What is a flexible exchange rate ?

IR Hd R a9 7T gfg I@ Ffw

(i)
(ii)
(ii1)
(iv)
(v)

(vi)

58/2/1

Hegerd! AT ()

wis ¥ aiEda (%)
sere fashl ()

TARA & 9 3R FHa (%)
FEd YeF (X)

IFA IS F IYAT (R)
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Find out Net Value Added at Market Price :

(1) Intermediate cost ()

(ii)  Change in Stock (%)

(iii)  Output sold (units) 750
(iv)  Price per unit of output () 40
(v) Import duty (%) 2,000
(vi)  Consumption of fixed capital (%) 3,000
23. I H T F THE FE GHIET | 3

Explain the ‘unit of account’ function of money.

24. U & ‘@fed ¥ 9N 9% iR a9q 9% @ifer 3 39 W awa fag fRewy | 3

Draw consumption curve and saving curve in a single diagram and
mark the ‘break-even point’.

25. frefafan § feaer @ ST 3
TP &g = T 800
@R (FgFaH) 3T = % 50
i 3T ¥gfd = 0-8
Find ‘investment’ from the following :
National income = ¥ 800
Autonomous consumption = I 50

Marginal propensity to consume = 0-8

58/2/1 8
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26, THEA TN H T =T R TG =¥ F & AN IOET | TG B ER

Sie

Agqar
MG F STIHRAN G FA H TEN g9 H 9t 99T |
Distinguish between revenue expenditure and capital expenditure in a
government budget. Give example in each case.

OR
Explain the role of government budget in reducing income
inequalities.

27. RO Fad T GHIRU R ¥ ey Aud 9wy frafafen § 9y 1 =eEr -~
ST ARy 4
()  ®H B IEH YHF H A
(i) HH B AN & A
Giving reason, explain how the following should be treated while
estimating national income :

(i) Payment of excise duty by a firm
(ii) Payment of interest by a firm
28. F9 ¥ w1 ‘gx AT w4 gAIRT | 4
Hgar
wifsfys Tear Fae WK FuiE fmd oo % &9 s 9w
Explain ‘Bank of issue’ function of central bank.
OR
Explain the distinction between ‘Statutory liquidity ratio’ and ‘Legal
reserve ratio’.

29. WA g9 ¥ ‘MafE T F SEUNOT YHART | 399 F41 UA1 TAd § 2 4
Explain the concept of ‘primary deficit’ in a government budget. What
does it indicate ? '

58/2/1 9 P.T.O.
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30. (37) ISR HHd W g THF 3@E 3N (F) THA T YA T T HINT ¢

(i)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(%)
(xi)

Find

R #3g)
TSgd 99T daq 700
fepran 100
faeel @ faa =1q (FofioR) geaiaeeT 10
et erremey 70
qgeet 50
ik 300
facell @ faa @ns o9 (=) 20
3rEd S H ST 120
ERIGEIRCUSIE NS Gt N 60
FHAIRET TR FHISS Gy 3{eeE 40
i) 400

(a) Net National Product at Market Price and (b) Gross

National Disposable Income :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)

58/2/1

(X crore)
Wages and Salaries 700
Rent 100
Net current transfers to abroad | 10
Net indirect tax 70
Royalty 50
Profits 300
Net factor income to abroad (=) 20
Consumption of fixed capital 120
Social security contribution by employers 60
Social security contribution by employees 40
Interest 400
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31.

32.

‘STIEgifa SR W IFTUROT FHART | TEH FA FA H @éwﬁmﬁ F
AR F FHFIET |

JFqar
‘ffyes WM F SFUROT UHEET | 3T FH & A 9% o F e o
HHART |
Explain the concept of ‘deflationary gap’. Also explain the role of
‘open market operations’ in reducing it.

OR

Explain the concept of ‘excéss demand’. Also explain the role of ‘Bank
Rate’ in reducing it.

ﬁé&ﬁﬁmﬁﬁwaﬁtﬁm%aﬁ@am|méﬁ§qﬁ€sﬁﬁﬁm
R 3R el fafma & 9f & 4 wey gemsT | 6

Give two sources each of demand and supply of foreign exchange.
Giving reason explain the relation between foreign exchange rate and
supply of foreign exchange.

58/2/1 11 1,750
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